Active Learning Exercise

Of the two heat exchangers in the
last two examples, which one is
better? Why?
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Why is this the case?

.
1+ alves sawe O but is shorte —

Let’s explore this a bit more. Consider a parallel flow heat exchanger with a warm fluid inlet
temperature Thin and a cold fluid inlet temperature Tcin. Sketch the variation of fluid
temperatures with heat exchanger axial location, X (or area, A).
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Now consider a counter-flow arrangement of the same heat exchanger. The warm fluid inlet
temperature is still Thin and the cold fluid inlet temperature is still T¢in. Sketch the variation
of fluid temperatures with heat exchanger axial location, X (or area, A).
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Nete that the flurds dut do ' need Yo approach
the same temperature, \n -E—ad,
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